




Real Champs-



Real Champs-



In a vessel, there is 25 liters of milk and 5 liters of water. 20% of this mixture is replaced 

is replaced with water. Then 5 liters of this mixture is replaced with water. Find the 

ratio of milk and water ?

A.5:4
B.4:5
C. 9:8
D.3:4
E. NOT

एक बर्तन में 25 लीटर दधू और 5 लीटर पानी है। इस ममश्रण के 20% को पानी से बदल ददया जार्ा है। 
दिर इस ममश्रण के 5 लीटर को पानी से बदल ददया जार्ा है। दधू और पानी का अनुपार् ज्ञार् कीजजए?



Two vessels P and Q were partially filled with milk. 80% of the contents of P were 

transferred to Q. 60% of the contents of Q were then transferred back to P. At this 

stage, the ratio of the quantities of milk in P and Q is 23:12. Find the ratio of the initial 

volumes of milk is P and Q ?

A.5:3
B.10:7
C. 15:13
D.5:2
E. NOT

दो बर्तन P और Q आंमिक रूप से दधू से भरे हुए थे। P की 80% सामग्री Q में स्थानांर्ररर् कर दी गई 
थी। Q की 60% सामग्री को दिर P में वापस स्थानांर्ररर् कर ददया गया था। इस स्र्र पर, P और Q में 
दधू की मात्रा का अनुपार् 23:12 है। दधू के प्रारंमभक आयर्न P और Q का अनुपार् ज्ञार् कीजजये?



From a container contains milk, 10 % is removed and replace with water. Next 11.11% 

of the solution is removed and replace with water.  Next 12.5% of the solution removed 

and replaced with water. What is the percentage of milk in the solution now ?

A.60%
B.70%
C. 69%
D.80%
E. NOT

एक कंटेनर में से दधू है, 10% मनकाल ददया जार्ा है और पानी से बदल ददया जार्ा है। अगले 11.11% 
समाधान को हटा ददया जार्ा है और पानी से बदल ददया जार्ा है।  अगले 12.5% घोल को हटा ददया 
गया और पानी के साथ बदल ददया गया। अब घोल में दधू का प्रमर्िर् क्या है?



In a class of 80 students, the ratio of the urban to the rural is 5:3. In a test, the 

average score of the rural students is 40% more than that of the urban students. 

If the average score of all the students is 69, then what is the average score of the 

rural students?

A. 80
B. 76
C. 92
D. 84
E.NOT

80 छात्रों की एक कक्षा में, िहरी और ग्रामीण का अनुपार् 5: 3 है। एक परीक्षा में, ग्रामीण छात्रों का 
औसर् स्कोर िहरी छात्रों की र्ुलना में 40% अमधक है। यदद सभी छात्रों का औसर् स्कोर 69 है, र्ो 
ग्रामीण छात्रों का औसर् स्कोर क्या है?



The average price of 20 pen is 18rs while the average price of 18 of this pen is 

15.50rs. Of the remaining two pens, if the price of one pen is double the price of 

the other, what is the price of each of these two pens?

A.16,32
B.20, 40
C. 27,54
D.22, 44
E.NOT

20 पेन की औसर् कीमर् 18 रुपये है जबदक इस पेन के 18 पेन की औसर् कीमर् 15.50 रुपये है। 
िेष दो पेनों में से, यदद एक पेन का मूल्य दसूरे पेन की कीमर् से दोगुना है, र्ो इन दो पेनों में से 
प्रत्येक का मूल्य क्या है?



If a man spends 75% of his income. If his income is increased by 20% and his 

expenditure is increased by 10% then find the percentage changes in their 

savings? 

A.40
B.20
C.50
D.90
E.NOT

यदद कोई व्यक्ति अपनी आय का 75% खर्त करर्ा है। यदद उसकी आय में 20% की वकृ्ति होर्ी है और 
उसके व्यय में 10% की वकृ्ति होर्ी है, र्ो उनकी बर्र् में प्रमर्िर् पररवर्तन ज्ञार् कीजजये?



If A woman spend 30% of her income. If her income is increased by 40% and her 

expenditure is increased by 25% then find the percentage changes in her savings?

A.70%
B.30%
C.75%
D.50%
E.NOT

यदद एक मदहला अपनी आय का 30% खर्त करर्ी है। यदद उसकी आय में 40% की वकृ्ति होर्ी है और 
उसके व्यय में 25% की वकृ्ति होर्ी है, र्ो उसकी बर्र् में प्रमर्िर् पररवर्तन ज्ञार् कीजजये?



A girl spends 90% of her income. If her expenditure increases by 25% and savings 

increase by 30%, then by what percent does her salary increase?

A.25.5%
B.24%
C.22.5%
D.20%
E.NOT

एक लड़की अपनी आय का 90% खर्त करर्ी है। यदद उसका व्यय 25% बढ़ जार्ा है और बर्र् में 30% 
की वकृ्ति होर्ी है, र्ो उसके वेर्न में दकर्ने प्रमर्िर् की वकृ्ति होर्ी है?



A tank contains 100 litres mixture of whisky and water in the ratio of 4 : 1. 3/10th of this 

is taken out and then 2 litres of water is added to the tank. Further 1/4th of the mixture 

is taken out and 3 litres of whisky is added. Find the ratio of whisky and water in the 

resultant mixture?

A.4 : 15
B.15 : 3
C. 3 : 15
D.15 : 4
E. 15 : 2

एक टंकी में जव्हस्की और पानी का 100 लीटर ममश्रण 4: 1 के अनुपार् में है. इसका 3/10वां भाग 
मनकाला जार्ा है और दिर टंकी में 2 लीटर पानी ममलाया जार्ा है। इसके अलावा ममश्रण का 1/4 भाग 
मनकाला जार्ा है और 3 लीटर जव्हस्की ममलाया जार्ा है। पररणामी ममश्रण में जव्हस्की और पानी का 
अनुपार् ज्ञार् कीजजये?



Two varieties of sugar are mixed in the ratio 3 : 2 and sold for ₹80 per kg to make a 

profit of 25%. If the cost of the variety of sugar whose quantity is more is ₹40 per kg, 

what is the cost of the other variety of sugar?

A.Rs. 50
B.Rs. 48
C. Rs. 75
D.Rs. 100
E. NOT

र्ीनी की दो दकस्मों को 3: 2 के अनुपार् में ममलाया जार्ा है और 25% का लाभ कमाने के मलए 80 
रुपये प्रमर् दकलो के मलए बेर्ा जार्ा है। यदद र्ीनी की दकस्म जजसकी मात्रा अमधक है, की लागर् 40 
रुपये प्रमर् दकलो है, र्ो र्ीनी की अन्य दकस्म की लागर् क्या है?



In what ratio must water be mixed with milk to gain 20% on selling the mixture at cost 

price? 

A.4:1
B.5:1
C. 1:5
D.6:7
E. NOT

ममश्रण को क्रय मूल्य पर बेर्ने पर 20% का लाभ प्राप्त करने के मलए दधू के साथ पानी को दकस अनुपार् में ममलाया जाना 
र्ादहए?



A milkman mixes two mixtures P and Q of milk and water in the ratio 2:3 to form 

mixture R and sold this mixture R at the cost of pure milk and earns 25% profit. If the 

ratio of milk and water in mixture Q is 5:1, then out of total quantity of mixture P what 

percent of water?

A.25%
B.75%
C. 50%
D.30%
E. NOT

एक दधूवाला दधू और पानी के दो ममश्रण P और Q को 2:3 के अनुपार् में ममलाकर ममश्रण R बनार्ा है 
और इस ममश्रण R को िुि दधू की कीमर् पर बेर्र्ा है और 25% लाभ कमार्ा है। यदद ममश्रण Q में दधू 
और पानी का पानी से अनुपार् 5:1 है, र्ो ममश्रण P की कुल मात्रा में से पानी का दकर्ना प्रमर्िर् है?



There are 5000 population in a village. If the number of male will increased by 10% and 

female will increased by 15% then the population will become 5600 then find the 

number of female in the village? 

A.a



A man has some hen and some cows. If the total number of heads is 48 and total number 

of legs is 140 then find total number of hen? 

A.a



A man invest 15000rs in two parts. First part at 5% per annum and other part at 8% 

per annum. If he gain total 2700rs as a simple interest then find how much amount he 

invest at the rate of 5% per annum? 

A.a



Three types of tea price at 123rs/kg, 132rs/kg and x rs/kg be mixed in the ratio 1:1:2. If 

the mixture will become 150rs/kg then find the price per kg of third tea?

A.a
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